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I nmn’Y’s opinion — only applies to one leg (contra nywn) — “likely” it is the right
a  Question: is this “likelihood” a certainty — N7 nyT or an estimation — nvn nyT?
b Proposal: he is unsure; as we attributed the ruling that the 1 of noa are burnt on 16" - pav (else eat them or dispose)
i Rejection: perhaps they were recognized (one edible, the other 170x) but got mixed up
ii ~ Or (»wn "): reference is to the fat of the 73 which is 9mm but 587’ Dy avoids it
iii ~ Or (82227): reference (per YR1W) to outer T3 which is ©"1n MOR (DVHY PN PR)
¢ Proposed solution: nmin’ 1 rules that if someone ate n>1 of each of R & L 113, he gets 40 man (nnon - 80)
i Must mean: he is clear which one is 10K, else it is pav NRINN, which N "1 invalidates per ruling about 2 fathers
ii  Rejection: other version of N> ’7 has him validating pav nxnn (v. 1)
d  Proposed solution: "y "1 rules that if one eats 2 R 113 — gets 40 (1327 — 80); needed for ’s opinion “he is clear nmn ny7
i Note: he only finds for 40, as there was less than 12 on each
e  Source for choosing the right leg: or 710 (v. 2) — the stronger one
i a7 would explain it as an Mo'R that spreads throughout the entire thigh
ii 5727 v. 3 has him wrestling, would be attacking with the right hand, encircling and grabbing the right thigh
I  Extended mmr — about the “wrestling match”, apy»’s “night” in &-na etc. (vv. 4-33)
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